REFBRAUR SR (202246 %)

PN (Bfr:4)
DS X (L) =5 (L) =5
RERKAXFEL g £ (X %) 1 B+ (X %) 1
X F #F % H 2 F FE K gLt (Htx%) 3 B (%) 0
B BHAXIEER g £ (X %) 1 B+ (X %) 0
P B F F & K Bt (RBEFF) 0 B (REFZE) 0
B 2 % & X BELt(REF) 0 B (REZE) 0
EFEH R = ¥ OB K g £ (& %) 4 B x (& F) 0
MW I ¥ E K g £ (T %) 10 — —
BEXI®HEK & £ (T %) 4 — —
B H ¥ F K g £ (T %) 0 — —
TH#H R B E 2 FE K g £ (T %) 20 B (I %) 0
T RIEEHEK & £ (I %) 4 — —
MELEMHFER & £ (I %) 13 - —
AE L¥EK — — B £ (I %) 5
BEFHER T E ¥ E K Bt (F#&F) 5 — —
& &t 65 6
2 E 3,064 180
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